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PART A: Vocabulary
Directions: Choose the word or the phrase (1), (2), (3), or (4) that best completes the blank.

Then mark the correct choice on your answer sheet.

1-  Fierce winds and deadly waves were only one ----- many explorers like Christopher

Columbus confronted when sailing to unknown lands.

1) suspension 2) obstacle 3) shortage 4) variation

2-  In urban desert areas potable water supplies are stressed by inereasing demands that
leave water managers —------------ -- to find new supplies.
1) discouraging 2) refusing 3) invading 4) struggling

3-  The sense of smell diminishes with advancing age—much more so than the sensitivity to
taste, This ----------—--'may result from an accumulated loss of sensory cells in the nose.
1) decrease 2) merit 3) ambiguity 4) defense

4-  True, all economic activities have environmental consequences. Nevertheless, the goal of
shrimp producers should be to reduce the --—-ceeeeeeee effects on the environment as
much as possible.
1) indigenous 2) competitive 3) deleterious 4) imaginary

5-  Like most successful politicians, she is pertinacious and single-minded in the —-----eeeeeu--
of her goals.

1) pursuit 2) discipline 3) permanence 4) involvement

6- Knowing that everyone would ------—--—--- after graduation, she was worried that she
would not see her friends anymore,
1) emerge 2) conflict 3) differentiate 4) diverge

7-  Certain mental functions slow down with age, but the brain -------—---——- in ways that can
keep seniors just as sharp as voungsters.
1) composes 2) conveys 3) compensates 4) corrodes

8- Itis argued by some that hypnosis is an effective intervention for ------—---—— pain from
cancer and other chronic conditions.
1) displacing 2) alleviating 3) exploring 4) hiding

9-  Children who get -----—--—--— atmosphere at home for studies perform better than
students who are brought up under tense and indifferent family atmosphere.
1) favorable 2) valid 3) obedient 4) traditional

10- The post office has promised to resume first class mail -----—----—-—to the area on
Friday.

1) attention 2) progress 3) expression 4) delivery
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[ PART B: Cloze Passage

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each
space. Then mark the correct choice on your answer sheet.

Colette began painting while she was still in her youth. (11) =eeeeeeeeeeez 1970, she
completed her first performance with Hommage a Delacroix. (12) was
the beginning of an artistic career (13) ——=—ememmmemmex to the oneness of art and life.
(14) ~—=mmmemmmmmmm=_actions and performances on streets and public squares. followed by
her "living environments" and the "windows", (15) ~-=-==—---——-— in a selected pose
with an elaborate arrangement of fabrics and lace.

11- 1) Since the year 2) During a year of
3) For a year of 4) In the year

12- 1) that it 2) which 3) that 4)it

13- 1) devoted 2) was devoted 3) to devote 4) devoting

14- 1) Street works then came 2) Then came street works
3) There coming then street works with ~ 4) With street works then 1o come

15- 1) she remained motionless 2) that in there she remained motionless
3) in which she remained motionless 4) that in it motionless she remained

PART C: Reading Comprehension:

Directions: Read the following two passages and answer the questions by choosing the best

choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE I:

Running through much of Weinberg's work has been the importance of symmetry.
"Symmetry pringiples are principles governing the laws of nature that say those laws
look the same if you change your-point of view in certain ways. The classic example is
Einstein's special theory of relativity, which was based on a principle of symmetry that
says the laws of nature look the same no matter how you are moving, as long as you
move at constant velocity.-The kind of symmetry principle I've been involved in is the
way the observer identifies the nature of different particles,” Weinberg says.

The electroweak theory, linking electromagnetism and the weak interaction that
controls nuclear decay. the theory that won Weinberg the Nobel Prize alongside
Sheldon Glashow and Abdus Salam, brought these two passions together. “In 1967 |
realized that by using these ideas of symmetry you could make a theory of the weak
interaction in which it was very plausible that the infinities would cancel ... . What |
didn't think of in advance was that it was a theory that unified the weak and the
electromagnetic interactions, a step towards a more unified view of physics.”
Weinberg further added.
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What does the first paragraph mainly discuss?

1) The effect produced by moving at constant velocity

2) Classic examples of the concept of symmetry

3) The significance of Einstein’s theory of relativity

4) The importance of symmetry from Weinberg's point of view

Which of the following statements is true?

1) Weinberg is somehow against Einstein’s theory of relativity.

2) Weinberg argues that people should not change their points of view in certain ways.

3) Einstein's theory of relativity is based on a principle of symmetry.

4) The symmetry Einstein had in mind was concerned with the way an observer would
identify the nature of different particles.

Which of the following statements is true?

1) Weinberg won the Nobel Prize with two of his colleagues.

2) Weinberg proposed a more unified view of physics in the early1960s.

3) Weinberg’s new conceptualization of symmetry won him the Nobel Prize

4) Sheldon Glashow helped Weinberg criticize Einstein’s theory of relativity,

“These two passions” in paragraph 2 refers to -———---—--——-- ‘

1) weak interaction and symmetry

2) nuclear decay and symmetry

3) nuclear decay and the electroweak theory

4) electromagnetism and weak interaction

The word “plausible” in paragraph 2 is closest in meaning tQ ----—----——-,
1) admirable 2) desirable 3) profitable 4) reasonable
PASSAGE 2

Many physical systems exhibit simple harmonic motion (assuming no energy loss): an
oscillating pendulum, the electrons in a wire carrying alternating current, the vibrating
particles of the medium in a sound wave, and other assemblages involving relatively
small oscillations about a position of stable equilibrium,

A specific example of a simple harmonic oscillator is the vibration of a mass
attached to a vertical spring, the other end of which is fixed in a ceiling. At the
maximum displacement —x, the spring is under its greatest tension, which forces the
mass upward. At the maximum displacement +x, the spring reaches its greatest
compression, which forces the mass back downward again. At either position of
maximum displacement, the force is greatest and is directed toward the equilibrium
position, the velocity (v) of the mass is zero. its acceleration is at a maximum. and the
mass changes direction. At the equilibrium position, the velocity is at its maximum
and the acceleration («) has fallen to zero. Simple harmonic motion is characterized by
this changing acceleration that always is directed toward the equilibrium position and
is proportional to the displacement from the equilibrium position. Furthermore, the
interval of time for each complete vibration is constant and does not depend on the
size of the maximum displacement. In some form, therefore, simple harmonic motion
is at the heart of timekeeping.
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Which of the following examples of a simple harmonic motion has NOT been mentioned
in the passage?

1) An oscillating pendulum

2) A steel ball rolling in a curved dish

3) The electrons in a wire carrying alternating current

4) The vibrating particles of the medium in a sound wave

The word “which” in paragraph 2 refers to ---——----—-- ---.

1) a mass

2) a vertical spring

3) a simple harmonic oscillator

4) the vibration

At the maximum displacement ——-eeeceeeeen,

1) +x. the spring reaches its greatest tension.

2) =X, the spring forces the mass back downward.

3) +x, the spring forces the mass back downward.

4) —x, the spring reaches its greatest compression.

The word “its™ in paragraph 2 refers to the
1) velocity 2) force

3) mass 4) equilibrium position

What is simple harmonic motion characterized by?

1) Changing acceleration that always is directed toward the equilibrium position
2) The interval of time for each complete vibration

3) Proportionality of the maximum displacement

4) The size of the maximum displacement

PASSAGE 3:

John Bardeen was the first person to have been awarded two Nobel Prizes in the same
field. He shared one with William Shockley and Walter Brattain for the invention of
the transistor, But it was the charismatic Shockley who garnered all the attention.
Bardeen's second Nobel Prize was awarded for the development of a theory of
superconductivity, a feat that had eluded the best efforts of leading theorists —
including Albert Einstein, Neils Bohr., Werner Heisenberg, and Richard Feynman.
Arguably, Bardeen's work changed the world in more ways than that of any other
scientific genius of his time. Yet while every school child knows of Einstein, few
people have heard of John Bardeen. Why is this the case?

Perhaps because Bardeen differs radically from the popular stereotype of genius.
He was a modest, mumbling ordinary person who worked hard and had a knack for
physics and mathematics. He liked to picnic with his family. collaborate quietly with
colleagues. or play a round of golf. None of that was newsworthy. so the media. and
consequently the public, ignored him.

John Bardeen simply fits a new profile of genius. Through an exploration of his
science as well as his life, a fresh and thoroughly engaging portrait of genius and the
nature of creativity emerges. This perspective will have readers looking anew at what
it truly means to be a genius.
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Which of the following statements can be understood from the passage about John
Bardeen?

1) His second Nobel Prize was more important than his first.

2) He shared his second Nobel Prize with two charismatic scientists.

3) He is the only scientist who has been awarded the Nobel Prize twice.

4) His second Nobel Prize had to do with the invention of the transistor.

The word “garnered” in paragraph 1 is closest in meaning to -----=-eeuuuv "

1) enacted 2) converted 3) diverted 4) attracted
The passage refers to all of the following scientists EXCEPT ---eceeeeeaeees .

1) Kip Thorne 2) Werner Heisenberg

3) Walter Brattain 4) Richard Feynman

The word “that” in paragraph 1 refers to —--—-—-eneeev,

1) world 2) work 3) time 4) genius

Why is John Bardeen NOT a famous scientist?

1) He was a humble person with an ordinary way of life.

2) His relationship with his colleagues was falsely reported in media.
3) He did not have a knack for physics and mathematics.

4) He was not a true genius worth talking about.
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